Check digit calculation example:

1. Convert letters to the numbers used in the formula:

       VIN value: ABCDEFGHIJKLMNOPQRSTUVWXYZ0123456789

   Formula value: 123456789123456789234567890123456789

   Example:

              VIN: WAUCB28DXWA165337  (Check digit is X)

   Formula values: 61432284761165337

2. Apply positional weighting (VIN pos. 9 NOT USED): 

   VIN pos: 1 2 3 4 5 6 7  8 9 10 11 12 13 14 15 16 17

    Weight:
8 7 6 5 4 3 2 10 -  9  8  7  6  5  4  3  2

   Example:

      VIN:  6  1  4  3  2  2  8  4  7  6  1  1  6  5  3  3  7



*  *  *  *  *  *  *  *     *  *  *  *  *  *  *  *

   Weight:
8  7  6  5  4  3  2 10  -  9  8  7  6  5  4  3  2

   Result: 48  7 24 15  8  6 16 40    54  8  7 36 25 12  9 14

3. Sum all the results:

   48+7+24+15+8+6+16+40+54+8+7+36+25+12+9+14 = 329

4. Divide the sum by 11: 

   329 / 11 = 29 with a remainder of 10.

   The remainder is the check digit (modulus 11 value).

   If the remainder is 10, the check digit is 'X'.

